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Q1. (i) What is the objective of learning automata theory?
(if) Design a FSA for a password protected door comrollg’?@‘
controller gets locked for 1 days on wrong attempt for % {

: (ashappens in net banking
® [1.5+0.5] [CO1, CO2]

Q2. (i) Please gwe some of the strings j‘-"‘,;,_»-u %ﬁ’ge (L) which accepts even number of O

Y

followed by 1 divisible by 5. Create the D{ﬁ%@ for it. [0.5+1.5]1{CO1, CO2]
(il) What is the motivation for leanﬁ% [0.5]{CO1, CO2]
I, g‘%%

Q3. (i) Can we transform a DBg ?Iﬁ%ﬁéﬁﬁple final states into a DFA with single final state?
. S | [1][COL, CO2]
(i) Why given b%\; I::;Ags NFA? {1][CO1, CO2]
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(i)
o : _ Consider Q, is the final state.

sF‘

' 4
Q4. (i) Create a DFA to start with even number of 0 and odd 1cng§ i

1 P Y T L e R PO Sy B rTres
SHOW i cacoulion bres for uwcptmg Dtilﬁé 0.

ig of start with 1 and
" [2] [cot,coz]

(if) How many number of states will be in equivalent DEA'fora NFA which has 5 states with
all epsilon transition? 1] [co2]

even number length string.

respectively.

Q6. Create a DFA for a langua, :
remainder 2 when divisible by \‘} L\ 1 1c00)

g

Q7. Which kind of s,ginggs epted by below NFA. Convert NFA to DFA for that. [0.5+2.5]
o i, I

[co2] e

(a,b)
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